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Activity 2
1
 

 

For each of the following situations, put the appropriate letter 

before the example. 

 

F if it is an example of frictional unemployment. 

C if it is an example of cyclical unemployment. 

St if it is an example of structural unemployment. 

S if it is an example of seasonal unemployment. 

 

1. A Wisconsin construction worker cannot find work in the 

winter. 

2. A steelworker is laid off because of a long recession. 

3. A computer programmer quits her job in Chicago to look 

for a new job in San Diego. 

4. A store clerk loses her job because sales are slow during a 

business slump. 

5. A high school dropout applies for several jobs but is told 

each time that he is not qualified. 

6. An unemployed college senior is looking for her first job. 
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 Užduotis paimta iš NCEE medžiagos. 


